WQM‘*“
s 100,
S M’O

AT
L;(M\Il"\ ¥
b
nbol

\
S

De¥ll\i\'iln. F
of
‘s [N
?me, anA N
P’\/(\liu\ \l\‘—
eaef‘

b= 6
(Y
%\ S 0 SqUAT d
“

if
N
'S NA' A 51
vare ted
P

T
The \,egec\sa
]



Tweorem: For p o 0dd ?r:hb,

((;\: ('L?—’_‘L Mod P

E\(O\MV\G ? 7 Nan-zero s:LuaM‘ ‘, 2, “.
-\

n vl 34156
Y[ v v v v

SesZl VLU -1 -]
N

ASS\)I’\i(\a ‘]'Lis '?M'Mv N, acl‘ .tmmu;iﬂ)(ﬁ\”'
(\‘) Mu\\'u?\lcw\-\wl-b ( )(b) (‘%3

\L— -

a “&%

(2') (7")\'3: %l F ‘)':\ mod U

-\ & ‘VEZ mod Y.

IF geled U gz el poven

2 uw_
CEVT = e T =t

P



s el
- K&l
(°')Lf=(-l)q"r=(-nm+\=-'l.

Proot of theorem

A\ -\ _
(ﬂ?’f) = ﬂ? = \ M"A ' B‘a L"ﬂ"‘“&"’
S0 ‘\U{‘ =\ oc =1 ia W?
Conly solvha of Xel in B & tovk of
T wces to show e
h""s/ 3 v\:F\CQS SNOW .

P\,
nf'::‘ ﬁoé‘)('=)(\°\$m5‘,\nﬂ, Mnod -

‘l'r l\d" ﬂué':"[ b P &Son l\U‘l A Squere rod 0

Choose o ‘)V'm'\\-'\ve, root 6 for F?,
and \e¥ I: W; —> 'Z,ﬁ),nz be

the CoVS‘eSQo(\éMb discrete \Ob 3’9-;_7
V).~

T(g)=x e

N
¢/ (o) |0 |

Ema?\c‘- =7, =3

C on |||z|3|‘4|5|60"“‘r) (‘\
XCAV\Y\C. T fofz]vfy]s]s Cn2/k2)

Wit ke
(\'.:‘.K(L =D I(ﬂ)':l’(’[l\:z‘:(i] eVC/\\/ Senge PC?CGV"L

i€ L) even =7 T(\) =2 Y =)An = bz'ﬁ =(9‘0)z' 210
‘If.f\\/ SO als squee.



0
@ ICI\) iS even &) L%-.IC(\)':O ia Z/qylz

S T(F)=0
&Y q';w‘.'tao"—‘l.
Exom‘)let n 11213141516 (ia “:;)
To)jofz[v][y] ]2 (inl/gz,)

3003033 (i Z/b2)

&l

P!’W( of -l‘o\eore.—\
i€ Fiaished.

Hiwe  eshaldihed:
(D = AT Rl
ad A A Canseq}/eqco.

(a\o )('\03
-l> {-\ :lF ‘> "i::i:

Rema\:\s Yor H\c resl' of '\lno weel.



© Jushily, W, Femoln $or

(3), 1 F p2,7 med 8
P -1 if ""3’7,5 hod %

: Sushcb l{,uaérlv{'ic. reci‘arod'\"g

?\: (4‘3:) & porqz=| nod Y
U CG) #paiges mai Y
e foot of X' =3
\:or ‘00“\3 ex\)reSS SQ Ve ma\s vsia
roos of vc\'v\l-sa (vodks 6 x"=1)
C\Noc\lé\«eelr 1 'T\m/rséma v?c\eo’)



